[N NORuIul 0000000000

OMmRON

0 EE-SX1140

mgg

O0000mmO

4-0.8

4-C0.3

Jopiooubooumoogn

m ][]

-U00MmmOO0D000163mmOOO0OO

@®3.2:01000
:—ﬁ—: f 0000 oOogno
>0— - E]¢ 3 5
,jLO-B‘ ‘
14
23
S A B I,
oo
m 0000 0Oo0Tan 2500
013,50 ooooao ooo ooo oo
= o 0 g | 0O IF 50 01| mA
ala 4505 O|/0oo0o0oooao | FP 1 o2 A
- JL : O 0 0 VR 4 v
+0.25 000000000000 | Veeo 30 Vi
o190 S 000000000000 | Veco — v
O|loooooao Ic 20 mA
0000000000 ooooon O000ooao Pc 100 o1 mwW
oooo oooo 0oo +03 O O O O Tstg 0300010 O
A nood DOD0O000 | £0375 0000000 Tsol 260 03| [
K oooo Ogo0o0O1000 + 0.45
01 0000025000000000000000000
C oooo 0001800 + 0.55 0000
E oooo 180003000 | +065 02 0000010y sO00 O 100Hz
O3 0000000010000
000000000 O0Tan2500
ooooo
oooon ogd og oooon
MIN. TYP. MAX.
O O O VE _— 1.2 15 V | IFO 30mA
O
O |0 O O IR e 0.01 10 bHA | VRO 4V
O
Oo0O0Q0Oo0oao AP — 940 o nm | IFO 20mA
O O O IL 0.4 o e mA | IF00 20mADVced 10V
O O O Ip —_— 2 200 nA | Vced 10VDO 0 4x
O
a | o O a O | lLeak —_— — — uA
O
O0O0O0ooooon
0 0 0 0 VcEe(sat) o 0.1 0.4 V | IFO 20mAOLO 0.1mA
oodoOooooog AP o 850 . nm | Vced 10V
50 oo oot — |4 — | s VeDsvoROON
Veeld 5VO RLO 100Q
O O O 0 tf — 4 — S | 05mA

116



OMmROoN

EE-SX1140

mJoggogg
girLo000oo0O0oboooobooooon
0 60 150 [
] ]
u] u]
EE IF E
50
o 0
E_\C
40 e \ 100@’/\/
30 \\
20 \\ 50
10
o 0
-40 -20 0 20 40 60 80 100
O0OO0OO0OTaOOO
04.000-00000000COOOOOOTYP.O
o 10 L— 1
0 . Tal 250 o SomA_L—
ML
A //
= 8 — \¢0 40MA T
7 —
" ‘
6 w0 30mAl__|
|1
5
4 \F020mAL___J
3
2 10 10mA
1
0 1 2 3 4 5 6 7 8 9 10
0o00o0ooo0oo0o0o0oveea vo
O7v.0000—-000C0O0OooTYP.O
[J 10,000 =
0 VecO 5V H
o Tal 250
O
t
i
is 1,000
tf
Py
100 ~
7N
g tr
10 =
—
1
0.01 0.1 1 10

O00O0ROkQO

08z ooo

(O)socoooo
= =
= N
o o

=
o
=]

90

80

70

@
o

40 {
TaO 00700 H
30

b02.000—-00O0OoooTyrP.O

Tal ‘D 300 !
Talo [ 25!‘\\

l

)

08 1 12

0 02 04 06 14 16 18

oooveovo

gs.000oo—-0o0000o0o0TYP.O

[
IF00 20mA
Vcel 5V
-40 -20 0 20 40 60 80 100

60

120

(D)Fooooo
=
o
o

80

60

40

20

0o0o00Tad OO

gs.00o0o0oooTyp.O

IF00 20mA
Vcel 10V
Tall %SD —

oooooo
0-0-0

— |

-15 075 0 075 15 225 3

00 dd mmOd

ogEooo

10,000

03.0oo—-ooooooTyp.Od

[ T
Tz L/
//
/(
/(
/I
/l
/I
/(
"4
0 10 20 30 40 50
000 1E mAD sl
O
0e6.000—0O0000O0O0OTYP.O E
Vcel 10V = : ¥ ¥ ¥ T T T T { H
0ix T
[}
[m}

OhrPRPERLXW-MM

-30 -20 -10 O 10 20 30 40 50 60 70 80 90

DOoO00Tad OO

ge.00OOCOOODOO

900
0 100

Vce

oo

117





